Tender No: All-EN-CMW-MJND-25-27-Rl Closing Date/Time: 18/08/2025 15:00

GM/DFCCIL/AJMER acting for and on behalf of The President of India invites E-Tenders against Tender No **AII-EN-CMW-MJND-25-27-RI** Closing Date/Time 18/08/2025 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	Comprehensive Maintenance works of all assets excluding track and Bridge structures in the Jurisdiction of IMD New Marwar under CGM Ajmer Unit of WDFC						
Bidding type	Normal Tender						
Tender Type	Open	Bidding System	Two Packet System				
Tender Closing Date Time	18/08/2025 15:00	Date Time Of Uploading Tender	21/07/2025 17:29				
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable				
Advertised Value	115458626.15	Tendering Section	TENDER				
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par				
Earnest Money (Rs.)	727300.00	Validity of Offer (Days)	60				
Tender Doc. Cost (Rs.)	0.00	Period of Completion	24 Months				
Contract Type	Works - General	Contract Category	Expenditure				
Bidding Start Date	04/08/2025						
Are JV allowed to bid	Yes	Number of JV Member Allowed	3				
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0				
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Revenue				

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl. (%)	Amount	Bidding Unit
Sched	ule () A-S	chedule A DSR	2021				151005688.23	
	112	990.00	cum	180.40	178596.00	AT Par	178596.00	
1	Descript means)	tion:- Chapter	1: CARRIAC	GE OF MATERIA	L 1.1.2 CARRIAG	GE OF MA	TERIAL Earth (m	echanical
2	121	100.00	cum	187.24	18724.00	AT Par	18724.00	
2	Descript	tion:- 1.2.1 co	st of carriag	e : Lime moorui	m building rubbi	sh (Manu	al)	
2	211	200.00	Sqm	107.00	21400.00	AT Par	21400.00	
3	Descript	tion:- Chapter	2: EXCAVAT	TION 2.1.1 Earth	work : all kind o	of soil		
	261	2000.00	cum	205.45	410900.00	AT Par	410900.00	
4		tion:- 2.6 Eart						
4	over area	as (exceeding	30 cm in de	pth, 1.5 m in w	idth as well as 1	.0sqm on	plan) including g ted by Engineer-	etting out
4	over area	as (exceeding osal of excavat	30 cm in de	pth, 1.5 m in w	idth as well as 1 nd lift upto 1.5 m	.0sqm on	plan) including g	etting out
5	over area and disposed 2.6.1 All 271 Description means of getting of the second secon	as (exceeding osal of excavate kinds of soil 150.00 tion:- 2.7 Ear ver areas (exc	cum th work in seeding 30 csal of excav	pth, 1.5 m in wadupto 50 m and 412.95 excavation by cm in depth, 1. vated earth lea	idth as well as 1 ad lift upto 1.5 m 61942.50 mechanical me 5 m in width as	AT Par eans (Hycs well as	plan) including g ted by Engineer-	etting out in-charge.)/ manual including
5	over area and disposed 2.6.1 All 271 Description means of getting of the second secon	as (exceeding osal of excavate kinds of soil 150.00 tion:- 2.7 Ear ver areas (excout and dispose	cum th work in seeding 30 csal of excav	pth, 1.5 m in wadupto 50 m and 412.95 excavation by cm in depth, 1. vated earth lea	idth as well as 1 ad lift upto 1.5 m 61942.50 mechanical me 5 m in width as ad upto 50 m a	AT Par eans (Hycs well as	plan) including geted by Engineer- 61942.50 draulic excavator 10 sqm on plan)	etting out in-charge.)/ manual including
	over area and dispo 2.6.1 All 271 Descrip means o getting centre area 273	as (exceeding osal of excavate kinds of soil 150.00 tion:- 2.7 Earwer areas (excout and disposincharge, 2.7. 150.00	cum th work in teeding 30 c sal of excav 1 Ordinary r	pth, 1.5 m in wadupto 50 m and 412.95 excavation by cm in depth, 1. vated earth leadock	idth as well as 1 ad lift upto 1.5 m 61942.50 mechanical me 5 m in width as 1 d upto 50 m a	Osqm on a, as direct AT Par eans (Hyc s well as nd lift u	plan) including geted by Engineer- 61942.50 draulic excavator 10 sqm on plan) pto 1.5 m, as di	etting out in-charge.)/ manual including
5	over area and dispo 2.6.1 All 271 Descrip means o getting centre area 273	as (exceeding osal of excavate kinds of soil 150.00 tion:- 2.7 Earwer areas (excout and disposincharge, 2.7. 150.00	cum th work in teeding 30 c sal of excav 1 Ordinary r	pth, 1.5 m in wadupto 50 m and 412.95 excavation by om in depth, 1. vated earth leadock 1184.30	idth as well as 1 ad lift upto 1.5 m 61942.50 mechanical me 5 m in width as 1 d upto 50 m a 177645.00	Osqm on a direct of the control of t	plan) including geted by Engineer- 61942.50 draulic excavator 10 sqm on plan) pto 1.5 m, as di	etting out in-charge.)/ manual including
5	over area and dispose 2.6.1 All 271 Descript means o getting of Engineer 273 Descript 281 Descript means in dressing	as (exceeding osal of excavar kinds of soil 150.00 tion:- 2.7 Ear ver areas (excout and disposincharge, 2.7. 150.00 tion:- 2.7.3 Ha 200.00 tion:- 2.8 Ear of foundation troof sides and rages and of sides and rages and of sides and rages are foundation troof sides and rages are sides are sides and rages are sides are side	cum th work in teeding 30 c sal of excav 1 Ordinary r cum rd rock (bla cum th work in	pth, 1.5 m in wadupto 50 m and 412.95 excavation by cm in depth, 1. vated earth leavock 1184.30 sting prohibited 286.85 excavation by trains (not exceptotroms, lift upto additional exceptors).	idth as well as 1 ad lift upto 1.5 m 61942.50 mechanical me 1.5 m in width as 1 ad upto 50 m ar 177645.00 57370.00 mechanical meding 1.5 m in in	AT Par and lift up AT Par AT Par AT Par AT Par ans (Hyo and lift up AT Par ans (Hyo width or g getting	plan) including geted by Engineer- 61942.50 draulic excavator 10 sqm on plan) oto 1.5 m, as di 177645.00 57370.00 draulic excavator 10 sqm on plan), out the excavator	etting out in-charge.)/ manual including rected by) /manual

Page 1 of 15

Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

J	Description:- 2.9 Excavation work by mechanical means (Hydraulic excavator)/ manual means if foundation trenches or drains (not exceeding 1.5m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of the excavated soil and disposal
	surplus excavated soils as directed, within a lead of 50 m. 2.9.1 Ordinary rock
9	293 48.00 cum 1258.60 60412.80 AT Par 60412.80
	Description:- 2.9.3 Hard rock (blasting prohibited)
	21011 500.00 Metre 255.55 127775.00 AT Par 127775.00
10	Description:- FILLING 2.10 Excavating trenches of required width for pipes, cables, etc includin excavation for sockets, and dressing of sides, ramming of bottoms, depth upto 1.5 m, includin getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20 cm depth, including consolidating each deposited layer by ramming, watering, etc. and disposing surplus excavated soil as directed, within a lead of 50 m. 2.10.1.1 Pipes, cables etc, not exceeding 8 mm dia.
11	21013 300.00 Metre 651.55 195465.00 AT Par 195465.00
11	Description:- 2.10.1.3 Pipes, cables etc. exceeding 300 mm dia but not exceeding 600 mm
	211 200.00 Metre 127.00 25400.00 AT Par 25400.00
12	Description:- 2.11 Extra for excavating trenches for pipes, cables etc. in all kinds of soil for dept exceeding 1.5 m, but not exceeding 3 m. (Rate is over corresponding basic item for depth upto 1. metre).
	225 3085.00 cum 253.95 783435.75 AT Par 783435.75
13	Description:- 2.25 Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.
	225a 1000.00 cum 368.65 368650.00 AT Par 368650.00
14	Description:- 2.25a Excavating, supplying and filling of local earth (including royalty) by mechanical transport upto a lead of 5km also including ramming and watering of the earth in layers not exceeding 20 cm in trenches, plinth, sides of foundation etc. complete.
15	225a 106.00 cum 2161.20 229087.20 AT Par 229087.20
13	Description:- 2.27 supplying and filling with sand
	2281 2000.00 Sqm 28.15 56300.00 AT Par 56300.00
16	Description:- 2.28 Surface dressing of the ground including removing vegetation and inequalities no exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. 2.28.1 All kinds of soil
	231 10000.00 Sqm 14.50 145000.00 AT Par 145000.00
17	Description:- 2.31 Clearing jungle including uprooting of rank vegetation, grass, brush wood, tree and saplings of girth up to 30 cm measured at a height of 1m above ground level and removal crubbish up to a distance of 50 m outside the periphery of the area cleared.
	23511 50.00 Metre 32.30 1615.00 AT Par 1615.00
18	Description:- 2.35 Diluting and injecting chemical emulsion for POST-CONSTRUCTIONAL anti-termit treatment (excluding the cost of chemical emulsion): 2.35.1 Along external wall where the apron is no provided using chemical emulsion @ 7.5 litres / sqm of the vertical surface of the substructure to depth of 300mm including excavation channel along the wall & rodding etc. complete 2.35.1.1 Wit Chlorpyriphos/ Lindane E.C. 20% with 1% concentration
	23521 800.00 Metre 44.70 35760.00 AT Par 35760.00
19	Description:- 2.35 Diluting and injecting chemical emulsion for POST-CONSTRUCTIONAL anti-termit treatment (excluding the cost of chemical emulsion): 2.35.2 Along the external wall below concrete comasonry apron using chemical emulsion @ 2.25 litres per linear metre including drilling and pluggin holes etc.: 2.35.2.1 With Chlorpyriphos/ Lindane E.C. 20% with 1% concentration
	23531 800.00 Sqm 256.15 204920.00 AT Par 204920.00
20	Description:- 2.35.3 Treatment of soil under existing floors using chemical emulsion @ one litre per hole, 300 mm apart including drilling 12 mm diameter holes and plugging with cement mortar 1:2 (cement: 2 Coarse sand) to match the existing floor. 2.35.3.1 With Chlorpyriphos/Lindane E.C. 209 with 1% concentration
	23541 800.00 Metre 35.75 28600.00 AT Par 28600.00
21	Description:- 2.35.4 Treatment of existing masonry using chemical emulsion @ one litre per hole a 300 mm interval including drilling holes at 45 degree and plugging them with cement mortar 1:2 (cement : 2 coarse sand) to the full depth of the hole. 2.35.4.1 With Chlorpyriphos/Lindane E.C. 209 with 1% concentration
22	412 523.00 cum 7783.65 4070848.95 AT Par 4070848.95 Description:- Chapter 4: PCC and DPC 4.1 Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 4.1. 1:1½:3 (1 Cement: 1½ coarse sand (zone-III) derived from natural sources: 3 graded stone aggregat 20 mm nominal size derived from natural sources)

Page 2 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

	413	1078.00	cum	7365.15	7939631.70	AT Par	7939631.70	
23		n:- 4.1.3 1:2:4			sand (zone-III) :			e 20 mm
	416	504.00	cum	6670.25	3361806.00	AT Par	3361806.00	
24					nd (zone III): 6 gr			
	431	2604.00	Sqm	307.95	801901.80	AT Par	801901.80	
25	Description		ing and shu	ıttering inclu	ıding strutting, p	-		l of form
	410	500.00	Sqm	370.85	185425.00	AT Par	185425.00	
26	Descriptio	n:- 4.10 Provid	ing and lay	ing damp-pr	oof course 40mr e aggregate 12.5	n thick wi	th cement conc	rete 1:2:4
	417	480.00	Sqm	681.65	327192.00	AT Par	327192.00	
27	coarse sand brick ballas	d (zone - III) : 6 t 40 mm nomin	graded sto al size,well	ne aggregat rammed and	mm thick of cen e 20 mm nomina d consolidated ar ing the top smoo	al size) ov nd groute	er 75mm thick b	ed of dry
	42011	1920.00	cum	8033.20	15423744.00	AT Par	15423744.00	
28	concrete for natural so recommend durability a curing, car direction of of the min cement con contractors	or plain cement urces, Portland ded proportions nd workability riage for all lea the engineer-ir imum specified ntent in design shall have discre plinth level: 4	concrete volume	work; using of a/Ordinary set 9103 to a pairing streng cluding the refull that the following that the following that 110 per re-design	on ready mixed of coarse aggregate Portland /Portla ccelerate / retargth; including purcost of centering grades of concisign mix shall by of the minimal themix or bear tin cement concr	e and fine nd Slag rd setting mping of rg, shutte rete. Note e payable um speci he cost of	e aggregate der cement, admi of concrete, to concrete to site ring and finishile: Extra cement le separately. In fied cement con extra cemente.	ived from ktures in improve of laying, ng as per up to 10% case the ntent, the 4.20.1 All
	512	1440.00	cum	8364.20	12044448.00	AT Par	12044448.00	
29	Descriptio	on:- Chapter 5 ncrete, excludin vel : 5.1.2 1:1.5	:RCC 5.1 F	Providing an	d laying in posi shuttering, finish se sand (zone-III)	tion spec	ified grade of r einforcement - A	ll work up
	522	560.00	cum	10185.05	5703628.00	AT Par	5703628.00	
30	pilasters, b struts etc. a	uttresses, plint above plinth lev ent : 5.2.2 1:1.5	h and strin	g courses, for five level,	work in walls (a illets, columns,p excluding cost of se sand(zone-III)	illars, pie centering	rs, abutments, g, shuttering, fini	oosts and shing and
	592	5200.00	Sqm	669.55	3481660.00	AT Par	3481660.00	
31		n:- 5.9 Centerii	ng and shut	tering includ	ing strutting, pro sters, butteresses		and removal of	
32	593 Description	1500.00	Sqm ended floors	766.55	1149825.00 ings, balconies a	AT Par	1149825.00	
	595	150.00	Sqm	608.35	91252.50	AT Par	91252.50	
33					girders, bressum			
	596	75.00	Sqm	804.25	60318.75	AT Par	60318.75	
34					ents, Posts and S		00010.75	
	59161	75.00	Metre	181.90		AT Par	13642.50	
35					floors and walls			1
36	5919	150.00	Sqm	814.95	122242.50	AT Par	122242.50	
	Descriptio	n:- 5.9.19 Wea	ther shed, c	hajja, corbel	s, etc			
37	bending, pl		on and bind	ing all comp	5067018.00 nent for R.C.C. wo plete upto plinth			
	522A6	21980.00	Kg	89.65	1970507.00	AT Par	1970507.00	
38	Description	on:- 5.22A Stee	el reinforcer iding all cor	nent for R.C	C.C. work including plinth level. 5.2	ng straigh	ntening, cutting,	
	531	de Fe-500D or n 150.00	cum	905.50	135825.00	AT Par	135825.00	
I			I					

Page 3 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

		53151			 			
							water and/ or li mplete. Note Fo	
39							om the subsoil v	
							ty of R.C.C. in cu	
							ned correct to 0.	
							ayment shall be	made for
		prcement or ce	entering & s		ler sub - soil wa	ter condit	ions	
	53311	115.00	cum	7997.30	919689.50	AT Par	919689.50	
	Description	:- DESIGN MI	X CONCRE	ΓΕ 5.33 Prov	iding and layin	g in posi	tion ready mixe	ed or site
							; using coarse	
							ary Portland /Por	
							elerate / retard th; including pu	
40							st of centering, s	
							r the following	
							ontent in design	
							nan 110% of the	
							lesign the mix o	r bear the
					level M-25 grad			
41	53312	115.00	cum	8599.35	988925.25	AT Par	988925.25	
			works upto		l-30 grade ceme			
	611	125.00	cum	6882.00	860250.00	AT Par	860250.00	
42							on burnt clay F	
							Brick work with	common
	1				'.5 in foundation			
	612	125.00	cum	6658.25	832281.25	AT Par	832281.25	
43			work with co	ommon burnt	clay non modu	lar bricks	of class designa	tion 7.5 in
	foundation a			1	T			
	621	25.00	cum	5746.80	143670.00	AT Par	143670.00	
44							f class designat	ion 7.5 in
			5.2.1 Cemen		(1 cement : 4 co			
45	622	25.00	cum	5549.95	138748.75	AT Par	138748.75	
.5	Description	:- 6.2.2 Ceme	nt mortar 1:	6 (1 cement	: 6 coarse sand)			
	631	25.00	cum	8030.60	200765.00	AT Par	200765.00	
46							forated bricks o	
							el up to floor fiv	e level in
		1	ent : 6 coars		1 With Modular			
	642	50.00	cum	8288.35	414417.50	AT Par	414417.50	
47			ork with co	ommon burnt	clay 6.4.2	Cement i	mortar 1:6 (1 c	ement : 6
	coarse sand)			1				
	6122	2000.00	Sqm	837.85	1675700.00	AT Par	1675700.00	
48							modular) brick	
			ons and plir				nt : 3 coarse san	d)
	6342	800.00	cum	7676.23	6140984.00	AT Par	6140984.00	
49							rming to IS:128	
				strength in s	uper structure a	above plir	nth.: 6@46"46@	2 Cement
		cement : 6 co	_	1				
	6452	2600.00	Sqm	969.65	2521090.00	AT Par	2521090.00	
50							of class design	
			ı super stru	icture above	plinth." 6.45.2	Cement	mortar 1:4 (1 c	ement : 4
	coarse sand)			6655 45	21252255		212522 52	
	71	330.00	cum	6653.45	2195638.50	AT Par	2195638.50	
51							in foundation	
							sand: 12 grad cement: 6 coa	
								ise sailu)
F 2	72	880.00	cum	8275.70	7282616.00	AT Par	7282616.00	
52	-			sonary with h	ard stoneabo	ve plinth	level 7.2.1 Ceme	ent mortar
	·	t : 6 coarse sa		222 22	00000 00	4 T D	00000 00	
F 2	75	100.00	cum	888.30	88830.00	AT Par	88830.00	
53	-	:- 7.5 Extra fo	r Random r	ubble mason	ary with hard st	toneme	ean radius not e	xceeeding
	l6m							
		202.25		4070	02-0	4==	00=0======	
	8221	200.00	Sqm	4679.35	935870.00	AT Par	935870.00	

Page 4 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

54	Description:- Chapter 8:8.2 Providing and fixing 18 mm thick gang saw cut, mirror polished, premoulded and prepolished, machine cut for kitchen platforms, vanity counters, window sills, facias and similar locations of required size, approved shade, colour and texture laid over 20 mm thick base cement mortar 1:4 (1 cement: 4 coarse sand), joints treated with white cement, mixed with matching pigment, epoxy touch ups, including rubbing, curing, moulding and polishing to edges to give high gloss finish etc. complete at all levels. 8.2.2 Granite of any colour and shade 8.2.2.1 Area of slab upto 0.50 sqm
55	8222 200.00 Sqm 4425.35 885070.00 AT Par 885070.00 Description:- 8.2.2.2 Area of slab over 0.50 sqm
56	831 200.00 Sqm 1063.45 212690.00 AT Par 212690.00 Description:- 8.31 Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.
57	9201 30.00 Sqm 3086.10 92583.00 AT Par 92583.00 Description:- Chapter 9 : 9.20 Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) decorative type, core of block board construction with frame of 1st class hard wood and well matched teak 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters. 9.20.1 35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws
58	9481 200.00 Kg 181.00 36200.00 AT Par 36200.00 Description:- 9.48 Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete. 9.48.1 Fixed to steel windows by welding
59	983 100.00 Each 1025.65 102565.00 AT Par 102565.00 Description:- 9.83 Providing and fixing aluminium die cast body tubular type universal hydraulic door closer (having brand logo with ISI, IS: 3564, embossed on the body, door weight upto 35 kg and door width upto 700 mm), with necessary accessories and screws etc. complete.
60	Description:- 9.11 Providing and fixing partition upto ceiling height consisting of G.I. frame andrequired board, including providing and fixing of frame work made of specialsection power pressed/ roll form G.I. sheet with zinc coating of 120 gms/ sqm(both side inclusive), consisting of floor and ceiling channel 50mm wide having equal flanges of 32 mm and 0.50 mm thick, fixed to the floor and ceiling at the spacing of 610 mm centre to centre with dash fastener of 12.5 mm dia meter 50 mm length or suitable anchor fastener or metal screws with nylon plugs and the studs 48 mm wide having one flange of 34 mm and other flange 36 mm and 0.50 mm thick fixed vertically within flanges of floor and ceiling channel and placed at a spacing of 610 mm centre to centre by 6 mm dia bolts and nuts, including fixing of studs along both ends of partition fixed flush to wall with suitable anchor fastener or metal screws with nylon plugs at spacing of 450 mm centre to centre, and fixing of boards to both side of frame work by 25 mm long dry wall screws on studs, floor and ceiling channels at the spacing of 300 mm centre to centre. The boards are to be fixed to the frame work with joints staggered to avoid through cracks, Galvanised M.S. fixing channel of 99 mm width (0.9 mm thick having two flanges of 9.5 mm each with zinc coating of 120 gms/sqm(both side inclusive)) to be provided at the horizontal joints of two boards, fixed to the studs using metal to metal flat head screws, including jointing and finishing to a flush finish with recommended jointing compound, jointing tape, angle beads at corners (25 mm x 25 mm x 0.5 mm), joint finisher and two coats of primer suitable for board as per manufacture's specification and direction of engineer in charge all complete. 9.105.1 75 mm overall thickness partition with 12.5 mm thick double skin fire rated Glass Reinforced Gypsum (GRG) plaster board conforming to IS: 2095: (part 3): 1996 (Board with BIS certification marks)
61	91651 200.00 Each 100.45 20090.00 AT Par 20090.00 Description:- 9.165 Providing and fixing bright /matt finished Stainless Steel handles of approved quality & make with necessary screws etc all complete. 9.165.1 125 mm
62	101 2500.00 Kg 93.05 232625.00 AT Par 232625.00 Description:- Chapter 10: 10.1 Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.
63	102 1000.00 Kg 78.20 78200.00 AT Par 78200.00 Description:- 10.2 Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete
64	10161 1400.00 Kg 154.90 216860.00 AT Par 216860.00 Description:- 10.16 Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete. 10.16.1 Hot finished welded type tubes

Page 5 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

65	1020	250.00	Kg	140.15	35037.50	AT Par	35037.50
03	_	ion:- 10.20 Provi	ding and fixi	ng bolts inclu	ıding nuts and v	vashers con	nplete
	10252	5000.00	Kg	142.30	711500.00	AT Par	711500.00
66	fixing in	position and appl	ying a primi	ng coat of a	pproved steel p	rimer using	cluding cutting,hoisting g structural steel etc. a es and similar works
	10261	1400.00	Kg	157.15	220010.00	AT Par	220010.00
67	railing, b		ircase railing				ding etc. to steel ladde riming coat of approve
	1028	1500.00	Kg	612.25	918375.00	AT Par	918375.00
68	channels required) railing w required approval	, plates etc., inclu and fitting the s ith necessary ac size, on the top	uding weldin same with no cessories & of the floor arge, (for pay	g, grinding, kecessary stai stainless ster or the side ment purpos	ouffing, polishin nless steel nut eel dash faster of waist slab se only weight	ig and makes and bolts ners , stain with suital of stainless	made of Hollow tubes ing curvature (whereve complete, i/c fixing the less steel bolts etc., co ple arrangement as pe steel members shall be
	10301	830.00	Sqm	940.30	780449.00	AT Par	780449.00
69	windows,	clerestory windo	ws, all comp	ete with: 10	.30.1 4.0 mm th	nick glass p	
	11163	400.00	Sqm	1218.65	487460.00	AT Par	487460.00
70	upto 12 r	nm, laid in floors,	and landing Iding rubbing	s, jointed wit g and polishir	h neat cement : ng complete, on	slurry mixe 20 mm thi	ded marble chips of siz d with pigment to matc ck bed of cement morta nent
	1127	780.00	Sqm	2038.55	1590069.00	AT Par	1590069.00
71	12 mm (average) thick ce	ment morta	r 1:3 (1 cem	ent: 3 coarse s	and) and jo	dado and pillars laid or pinted with grey cemen and polishing complete.
	11301	200.00	Sqm	1292.00	258400.00	AT Par	258400.00
72	mortar 1: cement :	:5 (1 cement : 5 c	oarse sand) Imixed with	with joints 3	mm thick, side	buttered w	e) thick base of cemen th cement mortar 1:2 (and pointing with sam
	1139	200.00	Sqm	1142.80	228560.00	AT Par	228560.00
73	more (th approved 1:4 (1 Ce	ickness to be sp I make, in colours	ecified by t White, Ivor and), jointin	he manufactu y, Grey, Fum g with grey o	urer), of 1st qu e Red Brown, la cement slurry @	iality confo aid on 20 m	of size 300x300 mm orming to IS: 15622, orming the sement mortal micluding grouting the
	11472	400.00	Sqm	1676.15	670460.00	AT Par	670460.00
74	the manu brand & i polymer thickness	ufacturer), with w manufacturer, in a modified quick se	ater absorpt all colours ar et tile adhes	ion less than nd shade, in s iive (water b	0.08% and conskirting, riser of ased) conformi	nforming to steps, laid ng to IS: 1	kness to be specified be IS: 15622, of approved with cement based high 5477, in average 6 mrde separately)." 11.47.2
75	11473	200.00	Sqm	2142.40 x800 mm	428480.00	AT Par	428480.00
	122311	50.00	Sqm	907.95	45397.50	AT Par	45397.50
			·				laying them in cemen
76	mortar 1 sections ceiling jo	: 4 (1 cement : (Karries or batter	4 coarse sa ns or structu mortar 1:3 (and) over wo ral steel sect	oden karries o ions to be paid	r R.C.C. ba separately	ttens or structural stee), including pointing the 3.1 Red sand stone slal
	12412	100.00	Metre	319.75	31975.00	AT Par	31975.00
77	conformi mm gap		Гуре A, inclu	ding jointing	with seal ring of	conforming	I PVC rain water pipe to IS : 5382, leaving 10 neter
	12452	150.00	Sqm	1286.45	192967.50	AT Par	192967.50
			I	I		I	1

Page 6 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

Steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns using self drilling/ self tapping screws complete: 12.51.1 Ridges plain (500 - 600mm) 1311		
1250 5000.00 Sqm 671.55 3357750.00 AT Par 3357750.00	78	frame work made of special sections, power pressed from M.S. sheets and galvanized with zinc coating of 120 gms/sqm (both side inclusive) as per IS: 277 and consisting of angle cleats of size 25 mm wide x 1.6 mm thick with flanges of 27 mm and 37mm, at 1200 mm centre to centre, one flange fixed to the ceiling with dash fastener 12.5 mm dia x 50mm long with 6mm dia bolts, other flange of cleat fixed to the angle hangers of 25x10x0.50 mm of required length with nuts & bolts of required size and other end of angle hanger fixed with intermediate G.I. channels 45x15x0.9 mm running at the spacing of 1200 mm centre to centre, to which the ceiling section 0.5 mm thick bottom wedge of 80 mm with tapered flanges of 26 mm each having lips of 10.5 mm, at 450 mm centre to centre, shall be fixed in a direction perpendicular to G.I. intermediate channel with connecting clips made out of 2.64 mm dia x 230 mm long G.I. wire at every junction, including fixing perimeter channels 0.5 mm thick 27 mm high having flanges of 20 mm and 30 mm long, the perimeter of ceiling fixed to wall/partition with the help of rawl plugs at 450 mm centre, with 25mm long dry wall screws @ 230 mm interval, including fixing of gypsum board to ceiling section and perimeter channel with the help of dry wall screws of size 3.5 x 25 mm at 230 mm c/c, including jointing and finishing to a flush finish of tapered and square edges of the board with recommended jointing compound , jointing tapes , finishing with jointing compound in 3 layers covering upto 150 mm on both sides of joint and two coats of primer suitable for board, all as per manufacturer's specification and also including the cost of making openings for light fittings, grills, diffusers, cutouts made with frame of perimeter channels suitably fixed, all complete as per drawings, specification and direction of the Engineer in Charge but excluding the cost of painting with : 12.45.2 12.5 mm thick tapered edge Glass Reinforced Gypsum (GRG) board conforming to IS: 2095- (Part 3) :
Description: 12.50 Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of orrugation as approved by Engineer-in-charge) 0.50 mm (+ 0.05; b) total coated thickness with zinc coating 120 grams per sqm as per 15: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineerin- charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any titch in horizontal/vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required. 12511		
Description:- 12.51 Providing and fixing precoated galvanised steel sheet roofing accessories 0.50 mm (+0.05 %) total coated thickness, Zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns using self drilling/ self tapping screws complete: 12.51.1 Ridges plain (500 - 600mm) 1311	79	Description:- 12.50 Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of orrugation as approved by Engineer-in-charge) 0.50 mm (+ 0.05 %) total coated thickness with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineerin- charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to
80 mm (+0.05 %) total coated thickness, Zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns using self drilling/ self tapping screws complete: 12.51.1 Ridges plain (500 - 600mm) 81 1311 3000.00 Sqm 294.85 884550.00 AT Par 884550.00 81 Description:- Chapter 13: FINISHING 13.1 12 mm cement plaster of mix: 13.1.1 1:4 (1 cement: 4 fine sand) 1321 3000.00 Sqm 339.70 1019100.00 AT Par 1019100.00 82 Description:- 13.2 15 mm cement plaster on the rough side of single or half brick wall of mix: 13.2.1 1:4 (1 cement: 4 fine sand) 83 1331 200.00 Sqm 402.15 80430.00 AT Par 80430.00 84 Description:- 13.3 20 mm cement plaster of mix: 13.3.1 1:4 (1 cement: 4 fine sand) 1332 500.00 Sqm 382.10 191050.00 AT Par 191050.00 85 Description:- 13.3.2 20 mm cement plaster of mix: 1:6 (1 cement: 6 fine sand) 13332 100.00 Sqm 580.25 58025.00 AT Par 58025.00 86 Description:- 13.43 Applying one coat of water thinnable cement primer of approved brand and manufacture		·
1311 3000.00 Sqm 294.85 884550.00 AT Par 884550.00	80	mm (+0.05 %) total coated thickness, Zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns
1321 3000.00 Sqm 339.70 1019100.00 AT Par 1019100.00		1311 3000.00 Sqm 294.85 884550.00 AT Par 884550.00
Description:- 13.2 15 mm cement plaster on the rough side of single or half brick wall of mix : 13.2.1 1:4 (1 cement: 4 fine sand) 1331	81	fine sand)
1:4 (1 cement: 4 fine sand)		1321 3000.00 Sqm 339.70 1019100.00 AT Par 1019100.00
Description:- 13.3 20 mm cement plaster of mix : 13.3.1 1:4 (1 cement: 4 fine sand) 1332	82	
1332 500.00 Sqm 382.10 191050.00 AT Par 191050.00		1331 200.00 Sqm 402.15 80430.00 AT Par 80430.00
Description:- 13.3.2 20 mm cement plaster of mix: 1:6 (1 cement: 6 fine sand) 13332	83	Description:- 13.3 20 mm cement plaster of mix : 13.3.1 1:4 (1 cement: 4 fine sand)
13332 100.00 Sqm 580.25 58025.00 AT Par 58025.00	0.4	1332 500.00 Sqm 382.10 191050.00 AT Par 191050.00
Description:- 13.33.2 Raised and cut pointing 13431	84	Description:- 13.3.2 20 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand)
13431 4000.00 Sqm 64.45 257800.00 AT Par 257800.00	O.F.	13332 100.00 Sqm 580.25 58025.00 AT Par 58025.00
Description:- 13.43 Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface : 13.43.1 Water thinnable cement primer 13461 1000.00 Sqm 166.85 166850.00 AT Par 166850.00	85	Description:- 13.33.2 Raised and cut pointing
manufacture on wall surface: 13.43.1 Water thinnable cement primer 13461 1000.00 Sqm 166.85 166850.00 AT Par 166850.00 Description:- 13.46 Finishing walls with Acrylic Smooth exterior paint of required shade: 13.46.1 New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/10 sqm) 13611 2000.00 Sqm 131.45 262900.00 AT Par 262900.00 Description:- 13.61 Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: 13.61.1 Two or more coats on new work 1380 20000.00 Sqm 123.85 2477000.00 AT Par 2477000.00 Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.		13431 4000.00 Sqm 64.45 257800.00 AT Par 257800.00
Description:- 13.46 Finishing walls with Acrylic Smooth exterior paint of required shade: 13.46.1 New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/10 sqm) 13611 2000.00 Sqm 131.45 262900.00 AT Par 262900.00 Description:- 13.61 Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: 13.61.1 Two or more coats on new work 1380 20000.00 Sqm 123.85 2477000.00 AT Par 2477000.00 Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	86	
New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior primer applied @ 2.20 kg/10 sqm) 13611		13461 1000.00 Sqm 166.85 166850.00 AT Par 166850.00
13611 2000.00 Sqm 131.45 262900.00 AT Par 262900.00 Description:- 13.61 Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: 13.61.1 Two or more coats on new work 1380 20000.00 Sqm 123.85 2477000.00 AT Par 2477000.00 Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	87	New work (Two or more coat applied @ 1.67 ltr/10 sqm over and including priming coat of exterior
an even shade: 13.61.1 Two or more coats on new work 1380		13611 2000.00 Sqm 131.45 262900.00 AT Par 262900.00
1380 20000.00 Sqm 123.85 2477000.00 AT Par 2477000.00 Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	88	
Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.		
13832 48000.00 Sqm 121.55 5834400.00 AT Par 5834400.00	89	Description:- 13.80 Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and
		13832 48000.00 Sqm 121.55 5834400.00 AT Par 5834400.00

Page 7 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

90	VOC (Vo	latile Organic Co	mpound)	content les	ss than 50 gra	ms/ İlitre	t of interior grade of approved brave eve even shade and	and and
	13853	20000.00	Sqm	64.45	1289000.00	AT Par	1289000.00	
91	low VOC		Compound) content. 1	3.85.3 With water		d and manufacture ble cement prime	
	1388	20000.00	Sqm	16.35	327000.00	AT Par	327000.00	
92		ion:- 13.88 Remo ce smooth includi					nd papering and p	reparing
	13901	10000.00	Sqm	56.80	568000.00	AT Par	568000.00	
93	less than						y mix) having VOC n shade : 13.90.1	
	1391	20000.00	Sqm	20.85	417000.00	AT Par	417000.00	
94	by scrap scratches	ping, sand pape etc. complete.	ring and p	reparing th	e surface smoo	th includ	cement paint and ding necessary re	
	131111	54745.00	Sqm	111.60	6109542.00	AT Par	6109542.00	
95	(Two or n	nore coat applied	@ 1.67 ltr/	10 sqm) on 6	existing cement p	aint surf		Old work
	1411	620.00	Sqm	462.30		AT Par	286626.00	
96	2.5 sq.mo and plast	eters and under, i ering the surface	ncluding cu of the walls	tting the pa complete, i	tch in proper sha ncluding disposa	ape, rakir I of rubbi	20 mm in patchesing out joints and pash to the dumping ortar 1:4 (1 cemen	reparing ground,
	1475A	1050000.00	Litre	0.40	420000.00	AT Par	420000.00	
97	cleaning tank incluand disposition written of stencil or GI fitting	the tank with free uding marking the osing of malba a n tank should be re- old date is not re-	sh water di date of cle Il complete emoved wit emoved ded	sinfecting waning on the as per direction will be because in the contraction will be singlessed in the contraction willinessed in the contraction will be singlessed in the contraction	ith bleaching poor e side of tank boo ction of Enginee over or black pail	wder @ (dy with th er-in-Char nt and if	rubbish from the f 0.5gm per litre ca ne help of stencil a ge. (The old date date is not written tre) (if during clea	pacity of and paint already with the
				at is to be	repaired by cont	ractor at	his own cost and	
		be paid on this ac	ccount)"		repaired by cont	•		
98	1521 Descrip manually	200.00 tion:- Chapter: / by mechanical r	ccount)" cum 15 DISMA means inclu	2007.10 NTLING & ding disposa	401420.00 DEMOLISING 15	AT Par 5.2 Dem hin 50 m	401420.00 olishing cement etres lead as per uivalent design mi	concrete direction
	1521 Descrip manually	200.00 tion:- Chapter: / by mechanical r	ccount)" cum 15 DISMA means inclu	2007.10 NTLING & ding disposa	401420.00 DEMOLISING 15 Il of material wit 1:3:6 or richer m	AT Par 5.2 Dem hin 50 m	401420.00 olishing cement etres lead as per	concrete direction
	1521 Descrip manually of Engine 1522	be paid on this ad 200.00 tion:- Chapter : / by mechanical r er - in - charge. 1	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin	2007.10 NTLING & ding disposa al concrete 1239.60	401420.00 DEMOLISING 15 Il of material wit 1:3:6 or richer m 74376.00	AT Par 5.2 Dem hin 50 m ix (i/c eq AT Par	401420.00 olishing cement etres lead as per uivalent design mi 74376.00	concrete direction
98	1521 Descrip manually of Engine 1522	200.00 tion:- Chapter: / by mechanical reer-in-charge. 15	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin	2007.10 NTLING & ding disposa al concrete 1239.60	401420.00 DEMOLISING 15 If of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ	AT Par 5.2 Dem hin 50 m ix (i/c eq AT Par	401420.00 olishing cement etres lead as per uivalent design mi 74376.00	concrete direction
	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge	tion:- 15.3 Demos and disposal of e.	ccount)" cum 15 DISMA means inclu 5.2.1 Nomir cum inal concret cum lishing R.C.	2007.10 INTLING & ding disposa lal concrete 1239.60 e 1:4:8 or le 2928.10 C. work ma ble material	401420.00 DEMOLISING 15 al of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres	AT Par 6.2 Dem hin 50 m ix (i/c eq AT Par ivalent d AT Par anical m	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E	concrete direction x)
99	1521 Descript manually of Engine 1522 Descript 153 Descript steel bars	tion:- 15.3 Demos and disposal of	ccount)" cum 15 DISMA means inclu 5.2.1 Nomir cum inal concret cum lishing R.C.	2007.10 NTLING & ding disposa ial concrete 1239.60 e 1:4:8 or le 2928.10 C. work ma	401420.00 DEMOLISING 15 al of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres	AT Par 6.2 Dem hin 50 m ix (i/c eq AT Par ivalent d AT Par anical m	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta	concrete direction x)
99	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking	tion:- Chapter: / by mechanical reer - in - charge. 15.2.2 Nom 60.00 tion:- 15.3 Demos and disposal of e. 150.00 tion:- 15.40 Dismovithin 50 metres in 200.00	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceat cum antling preceded: 15.40	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete 2 Thickness	401420.00 DEMOLISING 15 If of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u	AT Par 6.2 Demin 50 m ix (i/c equivalent d AT Par anical m is lead as AT Par m walls, p	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E 53640.00 eartition walls etc.	concrete direction x) acking of ngineer -
99	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574	tion:- 15.40 Disma within 50 metres I 20.00	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceat cum antling preciead: 15.40 cum	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete 2 Thickness 1698.45	401420.00 DEMOLISING 15 al of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00	AT Par 6.2 Demins 50 m ix (i/c equality alent d AT Par anical m s lead as AT Par n walls, p to 75 m AT Par	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E 53640.00 eartition walls etc.	concrete direction x) acking of ngineer -
99 100 101	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript service at service at the servic	tion:- 15.40 Disma within 50 metres I 20.00 tion:- 15.7 Demo	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceab cum antling preceded: 15.40 cum lishing bric lisposal of u	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete 2 Thickness 1698.45 k work mar	401420.00 DEMOLISING 15 al of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00 nually/ by mech	AT Par ivalent d AT Par anical man ar walls, p to 75 m AT Par anical man	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E 53640.00 eartition walls etc.	concrete direction x) acking of ngineer -
99 100 101	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript service at service at the servic	tion:- 15.40 Disma within 50 metres I 20.00 tion:- 15.7 Demote tion:- 15.7 Demote material and demote tion:- 15.7 Demote tion:- 15.7 Demote material and demote tion:- 15.7 Demote material and demote tion:- 15.7 Demote	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceat cum antling preciead: 15.40 cum olishing bric lisposal of u	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete 2 Thickness 1698.45 k work mar	401420.00 DEMOLISING 15 all of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs ir above 40 mm u 33969.00 nually/ by mecha e material within	AT Par ivalent d AT Par anical man ar walls, p to 75 m AT Par anical man	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including startition walls etc. am 33969.00 eans including startition walls etc.	concrete direction x) acking of ngineer -
99 100 101 102	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript service at Engineer 15121 Descript including	tion:- 15.12 Dismotion:- 15.12 Dismotion:- 15.12 Dismotion:- 15.12 Dismotion:- 15.7.4 Dismotion:- 15.7.2 Dis	ccount)" cum 15 DISMA means inclu 5.2.1 Nomir cum inal concret cum lishing R.C. unserviceat cum antling preceded: 15.40 cum dishing bricklisposal of unantling doctrave, holdf	2007.10 NTLING & ding disposa al concrete 1239.60 e 1:4:8 or le 2928.10 C. work ma ole material 357.60 ast concrete 2 Thickness 1698.45 k work mar inserviceable 302.70 ors, window	401420.00 DEMOLISING 15 If of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00 nually/ by mecha e material within 15135.00 s and clerestory	AT Par ivalent d AT Par anical man ar Walls, p to 75 m AT Par anical man ar Walls, p to 75 m AT Par anical man ar Walls, p to 75 m AT Par anical man anical man anical man anical man anical man by to 75 m AT Par anical man by window	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E 53640.00 artition walls etc. nm 33969.00 eans including sta es lead as per direction	concrete direction x) acking of ngineer - including acking of ection of
99	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript service at Engineer 15121 Descript including	tion:- 15.7 Demode material and disposal of enaction:- 15.7 Demode enaction	ccount)" cum 15 DISMA means inclu 5.2.1 Nomir cum inal concret cum lishing R.C. unserviceat cum antling preceded: 15.40 cum dishing bricklisposal of unantling doctrave, holdf	2007.10 NTLING & ding disposa al concrete 1239.60 e 1:4:8 or le 2928.10 C. work ma ole material 357.60 ast concrete 2 Thickness 1698.45 k work mar inserviceable 302.70 ors, window	401420.00 DEMOLISING 15 If of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00 nually/ by mecha e material within 15135.00 s and clerestory	AT Par ivalent d AT Par anical man ar Walls, p to 75 m AT Par anical man ar Walls, p to 75 m AT Par anical man ar Walls, p to 75 m AT Par anical man anical man anical man anical man anical man by to 75 m AT Par anical man by window	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 esign startition of E 53640.00 eartition walls etc. mm 33969.00 eans including startition startition walls etc. mm 15135.00 es (steel or wood)	concrete direction x) acking of ngineer - including acking of ection of
99 100 101 102	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript serviceate Engineer 15121 Descript including Of area 3 1518 Descript including 1518	tion:- 15.12 Dismochanter and be material and disposal and cin-charge. 15.7.4 50.00 tion:- 15.40 Dismochanter 15.7 Demochanter 15.7 Demochanter 15.7 Demochanter 15.7.4 50.00 tion:- 15.12 Dismochanter 15.7.4 50.00 tion:- 15.13 Dismochanter 15.7.4 50.00 tion:- 15.13 Dismochanter 15.7.4 tion:- 15.13 Dismochanter 15.18 Dismoch	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceat cum antling preceded: 15.40 cum dishing bric lisposal of u Each mantling do trave, holdfelow Kg mantling stees, bolts, n	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete .2 Thickness 1698.45 k work marinserviceable 302.70 ors, window asts etc. cor 4.65 el work in b	401420.00 DEMOLISING 15 all of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00 nually/ by mech e material within 15135.00 s and clerestory mplete and stack 465.00 uilt up sections	AT Par ivalent d AT Par ivalent d AT Par anical manical manica	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including sta per direction of E 53640.00 eartition walls etc. im 33969.00 eans including sta es lead as per dir tes lead as per dir state of the state of	concrete direction x) acking of ngineer - including of ection of channels
99 100 101 102	1521 Descript manually of Engine 1522 Descript 153 Descript steel barrin- charge 15402 Descript stacking 1574 Descript serviceate Engineer 15121 Descript including Of area 3 1518 Descript including 1518	tion:- 15.12 Dismohalm in charge. 15.12 Dismohalm in charge. 15.7.4 tion:- 15.12 Dismohalm in charge. 15.13 Demohalm in charge. 15.7.4 tion:- 15.15 Demohalm in charge. 15.7.4 tion:- 15.16 Dismohalm in charge. 15.7.4 tion:- 15.18 Dismohalm in charge. 15.18 Dism	ccount)" cum 15 DISMA means inclu 5.2.1 Nomin cum inal concret cum lishing R.C. unserviceat cum antling preceded: 15.40 cum dishing bric lisposal of u Each mantling do trave, holdfelow Kg mantling stees, bolts, n	2007.10 INTLING & ding disposal concrete 1239.60 e 1:4:8 or le 2928.10 C. work mable material 357.60 ast concrete .2 Thickness 1698.45 k work marinserviceable 302.70 ors, window asts etc. cor 4.65 el work in b	401420.00 DEMOLISING 15 all of material wit 1:3:6 or richer m 74376.00 aner mix (i/c equ 175686.00 nually/ by mech within 50 metres 53640.00 e or stone slabs in above 40 mm u 33969.00 nually/ by mech e material within 15135.00 s and clerestory mplete and stack 465.00 uilt up sections	AT Par ivalent d AT Par ivalent d AT Par anical manical manica	401420.00 olishing cement etres lead as per uivalent design mi 74376.00 esign mix) 175686.00 eans including startition walls etc. am 33969.00 eans including startition walls etc. am 465.00 es (steel or wood) s, tees, flats and	concrete direction x) acking of ngineer - including of ection of channels

Page 8 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

105	Description:- 15.23 Dismantling tile work in floors and roofs laid in cement mortar including stacking
	material within 50 metres lead. 15.23.1 For thickness of tiles 10 mm to 25 mm 15232
106	15232 100.00 Sqm 93.40 9340.00 AT Par 9340.00
	1524 100.00 cum 1086.45 108645.00 AT Par 108645.00
107	Description:- 15.24 Demolishing dry brick pitching in floors, drains etc. including stacking of serviceable material and disposal of unserviceable material within 50 metres lead
	1525 100.00 Sqm 219.75 21975.00 AT Par 21975.00
108	Description:- 15.25 Dismantling stone slab flooring laid in cement mortar including stacking of serviceable material and disposal of unserviceable material within 50 metres lead.
	1633 50.00 cum 1837.25 91862.50 AT Par 91862.50
109	Description:- Chapter: 16 16.3 Supplying and stacking at site 16.3.3 53 mm to 22.4 mm size stone aggregate
	1681 200.00 cum 49.90 9980.00 AT Par 9980.00
110	Description:- 16.8 Brick edging laid lengthwise with half brick depth including excavation, refilling and disposal of surplus earth lead upto 50 metres 16.8.1 With common burnt clay F.P.S. (non modular) bricks of class designation 7.5
	161 990.00 Sqm 180.50 178695.00 AT Par 178695.00
111	Description:- 16.1 "Preparation and consolidation of sub grade with power road roller of 8 to 12 tonne capacity after excavating earth to an average of 22.5 cm depth, dressing to camber and consolidating with road roller including making good the undulations etc. and re-rolling the sub grade and disposal or surplus earthwith lead upto 50 metres."
	1610 1500.00 Sqm 190.05 285075.00 AT Par 285075.00
112	Description:- 16.10 Making bajri path including preparation of subgrade, supplying and laying brick aggregate of 50 mm nominal size 7.5 cm deep with blinding material consisting of 12 mm moorum and 12 mm red bajri consolidated with road roller.
	1642 60.00 cum 7399.20 443952.00 AT Par 443952.00
113	Description:- 16.42 Cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 40 mm nominal size) in pavements, laid to required slope and camber in panels as required including consolidation finishing and tamping complete.
	16432 400.00 cum 10006.65 4002660.00 AT Par 4002660.00
114	Description:- 16.43 Providing and laying design mix cement concrete of M-30 grade, in roads/ tax tracks/ runways, using cement content as per design mix, using coarse sand and graded stone aggregate of 40 mm nominal size in appropriate proportions as per approved & specified design criteria, providing dowel bars with sleeve/ tie bars wherever required, laying at site, spreading and compacting mechanically by using needle and surface vibrators, levelling to required slope/ camber finishing with required texture, including steel form work with sturdy M.S. channel sections, curing making provision for contraction/ expansion, construction & longitudinal joints (10 mm wide x 50 mm deep) by groove cutting machine, providing and filling joints with approved joint filler and sealants complete all as per direction of Engineer-in-charge (Item of joint fillers, sealants, dowel bars with sleeve/ tie bars to be paid separately). 16.43.2 Cement concrete manufactured in automatic batching plant (RMC plant) i/c transportation to site in transit mixer
	16601 2.00 Sqm 5609.55 11219.10 AT Par 11219.10
115	Description:- 16.60 Manufacturing, supplying and fixing retro reflective overhead signage boards made up of 2 mm thick aluminium sheet, face to be fully covered with high intensity and encapsulated lens type heat activated retro reflective sheeting conforming to type - III of ASTM-D-4956-01 as approved by Engineer-in-charge, letters, borders etc. as per IRC: 67-2001 in silver white with blue colour back ground and with high intensity grade, pasted on substrate by pressure sensitive adhesive backing which shall be activated by applying pressure conforming to class II of ASTM-D-4956-01 and fixing the same to the plate of structural frame work by means of suitable sized aluminium alloys, rivets or bolts & nuts @ 300 mm centre to centre all along the periphery as well as in two vertical rows along with theft resistant measures, including the cost of painting with two or more coats of epoxy paint in grey colour on the back side of aluminium sheet including appropriate priming coat. The rate includes the cost of rounding off the corners, lowering down the structural frame work from the gantry, fixing and erecting the same in position all complete as per drawings, specification and direction of the engineer-in charge.(Structural frame work including M.S. plate to be provided separately. Rectangular area of the sheet only shall be measured for payment) 16@46<46@1 Overhead informatory road signage
	1668 1000.00 Sqm 951.00 951000.00 AT Par 951000.00
116	Description:- 16.68 Providing and laying 60mm thick faciory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, or approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with line sand etc. all complete as per the direction of Engineer-in-charge.
	1669 200.00 cum 8613.55 1722710.00 AT Par 1722710.00

Page 9 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

		on:- 16.69 Prov						
117	mortar 1:3 joints exce required co	nent concrete in 8 (1 cement: 3 cept at sharp curvo complete etc. as	coarse sand) e shall not to per direction	, including m o more than ! n of Engineer	aking joints wi 5mm), includin -in-charge (len	th or with making d gth of finis	out grooves (th rainage opening shed kerb edgin	ickness of wherever
		for payment). (P						
	1675	200.00	cum	8277.55	1655510.00	AT Par	1655510.00	
118	batching p vacuum de per specifi	on:- 16.75 Proviolant. The ready ewatering procest cations and direct	/ mixed conss and finally	crete shall by finished by f	e laid and fin loating, broomi	ished with ng with w	n screed board ire brush etc. co	vibrator
	16741	1500.00	Sqm	82.00	123000.00	AT Par	123000.00	
119		on:- 16.74 75 m lidation etc. com				ing supply	ring of required	materials
	16781	200.00	cum	2658.10	531620.00	AT Par	531620.00	
120	to specific work site, prepared s as per spe	on:- 16.78 Consations, mixing in for all leads & listrace and compifications and do pe 75 mm to 0.0°	n a mechani fts, spreadin pacting with lirections of l	cal mix plant g in uniform vibratory po Engineer-in-C	at OMC, carria layers of speci wer roller to ac harge. 16.78.1	age of mix fied thickr hieve the	ked material by ness with motor desired density,	tippers to grader on complete
	1679	200.00	cum	2803.65	560730.00	AT Par	560730.00	
121	53 mm to water at 0 base / bas	on:- 16.79 Provi 0.075 mm) to w DMC in for all le- se course on we o achievethe de	ret mix maca ads & lifts, l ell prepared	adam (WMM) aying in unifo surface and	specification in orm layers witl compacting wi	cluding pr n mechan th vibrato	remixing the ma ical paver finish ry roller of 8 to	terial with er in sub- 10 tonne
	1683	200.00	Sqm	108.65	21730.00	AT Par	21730.00	
122		on:- 16.83 "Taki						
	payment s	shall be made so f Engineer-in-Ch	eparately an		viceable materi serviceable m			
	payment s	hall be made se	eparately an					
123	payment s direction o 1684 Descriptio required li coarse sar	hall be made se f Engineer-in-Ch	eparately an arge." Sqm ng old ceme cure, colour a bints with fir	362.30 nt cocrete intend pattern coes sand etc.	724600.00 Terlocking paveover and include all complete a	AT Par r blocks or ing 50 mr as per the	724600.00 f any design/ show thick compacted direction of E	ad as per ape laid in ed bed of
	payment s direction o 1684 Descriptio required li coarse sar	thall be made so f Engineer-in-Ch 2000.00 cn:- 16.84 "Layi ne, level, curvat nd, filling the jo	eparately an arge." Sqm ng old ceme cure, colour a bints with fir	362.30 nt cocrete intend pattern coes sand etc.	724600.00 Terlocking paveover and include all complete a	AT Par r blocks or ing 50 mr as per the	724600.00 f any design/ show thick compacted direction of E	ad as per ape laid in red bed of ngineerin-
	payment s direction o 1684 Description required li coarse san charge. (O 1690 Description size 300x3 approved modals loc shapes & p	hall be made so f Engineer-in-Ch 2000.00 bn:- 16.84 "Layi ne, level, curvat nd, filling the jo ld CC paver bloc	sparately an arge." Sqm ng old ceme ture, colour a sints with fireks shall be s Sqm ding and lay ing with wa ours and shap and 20mm thing grouting t	362.30 nt cocrete intend pattern come sand etc. upplied by th 1719.00 ring tactile tile ter absorption ades in for once the points with	724600.00 Terlocking pave over and include all complete are department for 687600.00 Terror vision impletes than 0.00 Terror vision impletes than 0.000 Terror vision impletes than 0.00000000000000000000000000000000000	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per paired per 5% and cosuch as foo:4 (1 cem	724600.00 f any design/ shows thick compact to direction of Et)." 687600.00 rsons as per state on forming to IS potpath, court yent: 4 coarse s	ape laid in the deep la
123	payment s direction o 1684 Description required li coarse san charge. (O 1690 Description size 300x3 approved modals loc shapes & p	chall be made set f Engineer-in-Ch 2000.00 ch:- 16.84 "Layine, level, curvated, filling the join declaration and the set of the set	sparately an arge." Sqm ng old ceme ture, colour a sints with fireks shall be s Sqm ding and lay ing with wa ours and shap and 20mm thing grouting t	362.30 nt cocrete intend pattern come sand etc. upplied by th 1719.00 ring tactile tile ter absorption ades in for once the points with	724600.00 Terlocking pave over and include all complete are department for 687600.00 Terror vision impletes than 0.00 Terror vision impletes than 0.000 Terror vision impletes than 0.00000000000000000000000000000000000	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per paired per 5% and cosuch as foo:4 (1 cem	724600.00 f any design/ shows thick compact to direction of Et)." 687600.00 rsons as per state on forming to IS potpath, court yent: 4 coarse s	ape laid in the dead of the de
123	payment s direction o 1684 Descriptic required li coarse sar charge. (O 1690 Descriptic size 300x3 approved modals loc shapes & p complete a 16912 Descripti blocks in fo & size/ sha 50mm thic blocks into joints with extra sand	chall be made set f Engineer-in-Ch 2000.00 con:- 16.84 "Layine, level, curvated, filling the joine department of the set of the sand beds and and cuttir complete all as fernished by the sand and cuttir complete all as fernished by the sand beds and and cuttir complete all as fernished.	sparately an arge." Sqm ng old ceme cure, colour a coints with firely shall be seen and shape ours and shape of Engineer-i Sqm riding and laying grouting to fengineer-i sqm riding and laying and laying and laying and shape of sand, colours and sand, colours an	d stacking of 362.30 Int cocrete intend pattern one sand etc. upplied by th 1719.00 Ing tactile tile ter absorption ades in for one ck base of ce the joints with n-Charge. 1011.20 aying factory ways or light method using compacting a rough vibrate blocks as per on of Enginee	724600.00 Terlocking pave over and includ all complete are department for 687600.00 Terlocking pave over and includ all complete are department for for vision im no less than 0. The part of the formula of the formu	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per 5% and cos such as for :4 (1 cem mixed with a par ered edge etc, of reid in requedding/lay by using and patter	724600.00 If any design/ shin thick compact edirection of Et)." 687600.00 If any design/ shin thick compact edirection of Et)." 687600.00 If any design/ shin thick compact edirection of Et)." 687600.00 If any design/ solution edirection of Et)." 2022400.00 If any design/ solution edited edit	ape laid in ted bed of ngineerin- ndards) of:15622 of ard, multi and) in all ments etc. ete paver thickness ttern over sing paver filling the sweeping
123	payment s direction o 1684 Description required li coarse san charge. (O 1690 Description size 300x3 approved modals loc shapes & p complete a 16912 Description blocks in for the size/ shapes 50mm thic blocks into points with extra sand of M-30 grows	chall be made set f Engineer-in-Ch 2000.00 Dn:- 16.84 "Layine, level, curvated, filling the joine decomposition of the provious per direction of the provio	sparately an arge." Sqm Ing old ceme cure, colour a coints with firely shall be seen and shall	d stacking of 362.30 Int cocrete intend pattern on sand etc. upplied by th 1719.00 Ing tactile tile ter absorption ades in for once the joints with m-Charge. 1011.20 aying factory ways or light of method using the compacting a rough vibrate plocks as per on of Enginee and pattern.	724600.00 rerlocking pave over and includ all complete are department for 687600.00 re (for vision immon less than 0.00 rement mortar 1 rement	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per 5% and couch as footback with AT Par ered edge etc, of reid in requedding/lay by using and patter 1.91.2 80 r	724600.00 f any design/ show thick compact the direction of Eth." 687600.00 rsons as per state on the forming to IS potpath, court yent: 4 coarse such matching pign 2022400.00 Cement Concrequired strength, ired colour & parting of inter lock plate vibrator, rn, finishing and mm thick C.C. particles.	ape laid in ted bed of ngineerin- ndards) of:15622 of ard, multi and) in all ments etc. ete paver thickness ttern over sing paver filling the sweeping
123 124 125	payment s direction o 1684 Description required li coarse sancharge. (O 1690 Description size 300x3 approved modals lock shapes & promplete a 16912 Description blocks in for a size/ shape shap	chall be made set f Engineer-in-Ch 2000.00 con:- 16.84 "Layine, level, curvated, filling the jold CC paver block and particular per direction of 2000.00 con:- 16.91 Provolution as per direction of 2000.00 con:- 16.91 Provolution and cutting the sand bedown and cutting the sand and cutting and with approventive and set of the sand bedown and cutting the sand and cutti	sparately an arge." Sqm gold ceme cure, colour a coints with firely shall be so sqm ding and laying with was ours and shall be so sqm ding and laying with was ours and shall square the square shall be so sqm riding and laying the square state of sand, color designed colo	d stacking of 362.30 Int cocrete intended pattern one sand etc. upplied by th 1719.00 Ing tactile tile ter absorption ades in for one ck base of ce he joints with n-Charge. 1011.20 aying factory ways or light method usin compacting a rough vibrate plocks as per on of Enginee gn and patte 2617.15 cing in position ar Covers on ng cost of cer .00mm c/c on with 1.6 mn ded at edges	724600.00 Terlocking pave over and include all complete are department of 687600.00 Terlocking pave over and include all complete are department of 687600.00 Terlocking in the complete are department of floors of the complete are department of t	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per 5% and couch as foother with a red edge etc, of reid in requedding/lay by using and patter	724600.00 If any design/ shows thick compact the direction of Eth." 687600.00 If any design/ shows the direction of Eth." 687600.00 If any design/ shows the direction of Eth." 687600.00 If any design the direction of Eth." 2022400.00 If any design the direction of Eth. 2022400.00 If any design the direction of E	ape laid in the ded bed of the number of the
123	payment s direction o 1684 Description required li coarse sancharge. (O 1690 Description size 300x3 approved modals lock shapes & proper second s	chall be made set f Engineer-in-Ch 2000.00 con:- 16.84 "Layine, level, curvated, filling the jold CC paver block and particular per direction of 2000.00 con:- 16.91 Provolution as per direction of 2000.00 con:- 16.91 Provolution and cutting the sand bedown and cutting the sand and cutting and with approventive and set of the sand bedown and cutting the sand and cutti	sparately an arge." Sqm gold ceme cure, colour a coints with firely shall be so sqm ding and laying with was ours and shall be so sqm ding and laying with was ours and shall square the square shall be so sqm riding and laying the square state of sand, color designed colo	d stacking of 362.30 Int cocrete intended pattern one sand etc. upplied by th 1719.00 Ing tactile tile ter absorption ades in for one ck base of ce he joints with n-Charge. 1011.20 aying factory ways or light method usin compacting a rough vibrate plocks as per on of Enginee gn and patte 2617.15 cing in position ar Covers on ng cost of cer .00mm c/c on with 1.6 mn ded at edges	724600.00 Terlocking pave over and include all complete are department of 687600.00 Terlocking pave over and include all complete are department of 687600.00 Terlocking in the complete are department of floors of the complete are department of t	AT Par r blocks or ing 50 mr as per the ree of cos AT Par paired per 5% and couch as foother with a red edge etc, of reid in requedding/lay by using and patter	724600.00 If any design/ shows thick compact the direction of Eth." 687600.00 If any design/ shows the direction of Eth." 687600.00 If any design/ shows the direction of Eth." 687600.00 If any design the direction of Eth." 2022400.00 If any design the direction of Eth. 2022400.00 If any design the direction of E	ape laid ir led bed of ngineering ard, multiple and) in all ments etc. ete paver thickness ttern over thickness transport to the sweeping aver block the district over the distr

Page 10 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

127	Descrin	tion:- Chanter	17 Sanitary	Installation 17	2 Providing and	fixing wh	nite vitreous china	nedestal
127							level white P.V.C.	
), conforming to	
							e walls and floors	wherever
	<u>-</u> -		an with ISI		olid plastic seat a	and lid		
	1771	5.00	Each	2275.00	11375.00	AT Par	11375.00	
128	Descrip	tion:- 17.7.1 V	Vhite Vitreo	us China Wash	basin size 630x	450 mm	with a pair of 15	mm C.P.
	brass pill	ar tap						
	1773	10.00	Each	2040.85	20408.50	AT Par	20408.50	
129	Descrip	tion:- 17.7.3 V	Vhite Vitreo	us China Wash	basin size 550x	400 mm	with a pair of 15	mm C.P.
	brass pill	ar tap						
120	171013	5.00	Each	6276.00	31380.00	AT Par	31380.00	
130	Descript	ion:- 17.10.1	Kitchen sink	with drain boa	rd 17.10.1.3 510	x1040 m	m bowl depth 200) mm
	17324	5.00	Each	1157.40	5787.00	AT Par	5787.00	
1 7 1							red quality) and o	f required
131							ith 6 mm thick h	
	backing :	17.32.3 Oval s	shape 450x3	350 mm (outer	dimensions)			
	17324	5.00	Each	1817.20	9086.00	AT Par	9086.00	
132	Descript	ion:- 17.32.4	Rectangular	shape 1500x4	50 mm		ļ.	
	1778	5.00	Each		T	AT Par	65182.75	
							all mounting wate	r closet of
133							e vitreous china ci	
							itres), including se	
				gasket etc com		-, -	3.77	,
	1882	100.00	Metre	513.75	51375.00	AT Par	51375.00	
	Descrip	tion:- Chapter	18 Water	Supply 18.8 P			rinated Polyvinyl	Chloride
							ing all CPVC plair	
134							ncludes jointing o	
							and making good	
							Concealed work,	including
			ing good th		8.2 20 mm nomii	nal outer	dia Pipes	
	1892	250.00	Metre	275.25	68812.50	AT Par	68812.50	
							PVC) pipes, having	
135							eaded fittings This	
					livent cement, tr 8.9.2 20 mm nor		refilling & testing	or joints
							· · · · · · · · · · · · · · · · · · ·	
136	1893	400.00	Metre	370.65		AT Par	148260.00	
			5 mm nomi	nal outer dia Pip				
137	1895	600.00	Metre	559.20	335520.00	AT Par	335520.00	
137	Descrip	t ion:- 18.9.5 4	0 mm nomii	nal outer dia Pir	oes			
120	1896	800.00	Metre	811.85	649480.00	AT Par	649480.00	
138	Descript	ion:- 18.9.6 5	0 mm nomi	nal outer dia Pir	oes	l l	•	
	1899	800.00	Metre	2811.75	2249400.00	AT Par	2249400.00	
139				ninal inner dia P				
	1848			9.70	i i	AT Dor	20000 00	
		4000.00	Litre			AT Par	38800.00	
140							oolyethylene wate making necessary	
					and the base su			noies for
	18	ı		100000.00	1	• •	1	
141		1.00	Lumpsum			AT Par	100000.00	
		, ,		t of Chapter 18				
	19352	200.00	Metre	3051.55		AT Par		
142							ssure NP-3 class	
							nt mortar in the p	
		ı	1		·		5.2 600 mm dia R	CC pipes
143	19	1.00	Lumpsum	500000.00		AT Par	500000.00	
173	Descrip	t ion:- Remaini	ng ammoun	t of Chapter 19				
1 4 4	21	1.00	Lumpsum	200000.00	200000.00	AT Par	200000.00	
144	Descrin	t ion:- Chapter	·		<u>. </u>		l l	
	22	1.00	Lumpsum	500000.00	500000.00	AT Par	500000.00	
145		tion:- Chapter	·		500000.00	/ (1 1 ul	300000.00	
					120222 22	AT 5	120222 02	
i	235	100.00	cum	1302.30	130230.00	AT Par	130230.00	

Page 11 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

47	Description:- Chapter 23 Rain Water Harvesting 23.5 Supplying, filling, spreading & leveling stone boulders of size range 5 cm to 20 cm, in recharge pit, in the required thickness, for all leads & lifts, a complete as per direction of Engineer-in-charge.							
47	· .				<u> </u>			T
.47	23	1.00		200000.00		AT Par	200000.00	
	· -	1		t of Chapter 23				Г
.48	26	1.00	Lumpsum	1000000.00		AT Par	1000000.00	
	<u> </u>			hnologies and I	1			Г
49	2021	1.00		4398223.93	4398223.93	AT Par	4398223.93	
	Descript	ion:- lumsum	on DSR 202	1 @ 3%				
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl. (%)	Amount	Bidding Unit
Sched	ule () B-Sc	chedule B CPW	/D DSR Horti	culture 2020			3438170.00	
	237	20000.00	Sqm per month	45.20		AT Par		
.50	hedge/ed	lge bed wateri	ing manure	and applying ir	nsecticides and 1	fungicides	terials, cleaning, s etc.(excluding t officer in charge	
	256	5000.00	Sqm	7.55	37750.00	AT Par	37750.00	
.51	diluted in	n 499 liters wa on) i/c cost of o	iter and app	lying solution (@ 1.00 litre solu	tion per	0.50% I P. one lite sqm lawn or bed d as per direction	area.(tw
	254	4100.00		51.20		AT Par	209920.00	
.52	around t	he tree using	chemical e	emulsion at th	e rate of 1.5 li	ter per	and 4 cm dia, 6 hole in two time pyriphos 20% EC	e or mor
	255	6000.00	Per tree	59.60	357600.00	AT Par	357600.00	
Description:- 2.55 Providing and applying anti termite treatment of infected trees branches/leaves by spraying chemical emulsion 0.5% (Chlorpyriphos 20% EC) concentration power spray machine (@ 100 ml Chlorpyriphos per tree i/c cost of chemical) and as per dire officer-in-charge. 2591 20000.00 Sgm 3.15 63000.00 AT Parl 63000.00				n througl				
	2391	20000.00	Sgm	3.15	63000.00	AT Par	63000.00	
.54	Descript mechaniz including	t ion:- 2.59 Cle zed method / disposal of c	manually, re collected wa	3.15 Sweeping of Le emove litter,de ste in dustbin,	63000.00 awn / Garden a bries, picking of / designated pla	rea and leaves, ace, as p	63000.00 keep it neat and papers, plastic b per direction of o 59.1 For Prestigio	l clean by ottles etc officer -in
.54	Descript mechaniz including	tion:- 2.59 Clozed method / disposal of call T & P, mate	eaning and manually, re collected wa rials/ articles	3.15 Sweeping of Li emove litter,de ste in dustbin, s shall be provid	63000.00 awn / Garden a bries, picking of / designated pla ded by the contra	rea and leaves, ace, as pactor.) 2.	keep it neat and papers, plastic b per direction of o	l clean b ottles etc officer -in us Area
.54	Descript mechaniz including charge (A 253 Descript features i 5000 lit.	tion:- 2.59 Cle zed method / disposal of c All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with	eaning and manually, re collected wa rials/ articles Per Trip oviding and shrubs, hed one labour f	3.15 Sweeping of Lacemove litter, de liste in dustbin, shall be provided 932.95 wartering of ir ge/edge, groun	63000.00 awn / Garden a bries, picking of / designated pla ded by the contro 1865900.00 rigation water to d cover etc. at t	rea and leaves, ace, as pactor.) 2.! AT Par hrough whe site of	keep it neat and papers, plastic ber direction of o 59.1 For Prestigio	ottles etcofficer -in us Area orticultur
	Descript mechaniz including charge (A 253 Descript features i 5000 lit.	tion:- 2.59 Cle zed method / disposal of c All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with	eaning and manually, re collected wa rials/ articles Per Trip oviding and shrubs, hed one labour f	3.15 Sweeping of Lacemove litter, de liste in dustbin, a shall be provided 932.95 wartering of ir ge/edge, groun or watering i/c	63000.00 awn / Garden a bries, picking of / designated pla ded by the contro 1865900.00 rigation water to d cover etc. at t	rea and leaves, ace, as pactor.) 2.! AT Par hrough whe site of	keep it neat and papers, plastic beer direction of of 59.1 For Prestigio 1865900.00 vater tanker of H	I clean by ottles etcofficer -in us Area orticulture cer having
.55 S.No.	Descript mechaniz including charge (A 253 Descript features 5000 lit. all leads a ltem Code	tion:- 2.59 Cleaded method / disposal of color o	eaning and manually, recollected warials/ articles Per Trip poviding and shrubs, hed one labour for direction of the collection of the co	3.15 Sweeping of Lamove litter,de ste in dustbin, shall be provided and shall be grovided and shall be ground and shall be gro	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to d cover etc. at t cost of water, fil ge.	rea and leaves, ace, as pactor.) 2.9 AT Parhrough whe site of ling of ta	keep it neat and papers, plastic b per direction of of 59.1 For Prestigio 1865900.00 vater tanker of H work. Water tank nker, wartering a	I clean by ottles etc officer -in us Area orticulture (er having it site with
S.No.	Descript mechaniz including charge (A 253 Descript features 5000 lit. all leads a ltem Code	tion:- 2.59 Clead method / disposal of coll T & P, mater 2000.00 tion:- 2.53 Project lawn, tree, capacity with coll and lifts as per litem Qty	eaning and manually, recollected warials/ articles Per Trip poviding and shrubs, hedone labour for direction of the collection of the collections Qty Unit uctions	3.15 Sweeping of Lamove litter,de ste in dustbin, shall be provided and shall be grovided and shall be ground and shall be gro	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to d cover etc. at t cost of water, fil ge. Basic Value	rea and leaves, ace, as pactor.) 2.9 AT Parhrough whe site of ling of ta	keep it neat and papers, plastic beer direction of of 59.1 For Prestigio 1865900.00 rater tanker of H work. Water tanl nker, wartering a	I clean by ottles etconfficer -in us Area orticulture cer having it site with Bidding Unit
.55 S.No.	Descript mechaniz including charge (A 253 Descript features is 5000 lit. all leads a Item Code ule () C-So LAR Descript	tion:- 2.59 Cle zed method / disposal of c All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty Chedule C Ded 1.00 tion:- Rate rec	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the collections Lumpsum duced by 33.	3.15 Sweeping of Lemove litter,de ste in dustbin, shall be provided by the shall be provided by	63000.00 awn / Garden a bries, picking of / designated pla ded by the contra 1865900.00 rigation water t d cover etc. at t cost of water, fil ge. Basic Value -51136361.46 le A + Schedule	rea and leaves, ace, as p actor.) 2.! AT Par hrough w he site of ling of ta Escl. (%) AT Par B as per	keep it neat and papers, plastic beer direction of of 59.1 For Prestigion 1865900.00 (ater tanker of However, wartering a second papers) Amount -45602031.28 -51136361.46 (atest LAR (As attered)	I clean by ottles etc officer -in us Area orticulture (er having t site with Bidding Unit ached)
S.No. 6ched	Descript mechanizincluding charge (A 253 Descript features 5000 lit. all leads a leads	tion:- 2.59 Cle zed method / disposal of c All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty Chedule C Ded 1.00 tion:- Rate rec 1.00	eaning and manually, recollected warials/ articles Per Trip poviding and shrubs, hedone labour for direction of the collection of the collections Lumpsum duced by 33. Lumpsum	3.15 Sweeping of Lemove litter,de ste in dustbin, shall be provided by the shall be provided by	63000.00 awn / Garden a bries, picking of / designated pla ded by the contra 1865900.00 rigation water t d cover etc. at t cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37	rea and leaves, ace, as pactor.) 2.5 AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par	keep it neat and papers, plastic beer direction of of 59.1 For Prestigion 1865900.00 rater tanker of He work. Water tanker, wartering a 45602031.28 -51136361.46 latest LAR (As attanket) -11068660.37	I clean by ottles etconfficer -in us Area orticulturker having t site with Bidding Unit
S.No.	Descript mechanizincluding charge (A 253 Descript features 5000 lit. all leads a leads	tion:- 2.59 Cle zed method / disposal of c All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty Chedule C Ded 1.00 tion:- Rate rec 1.00	eaning and manually, recollected warials/ articles Per Trip poviding and shrubs, hedone labour for direction of the collection of the collections Lumpsum duced by 33. Lumpsum	3.15 Sweeping of Lamove litter, de ste in dustbin, shall be provided as the shall be provided as	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37	rea and f leaves, ace, as p actor.) 2. AT Par hrough w he site of ling of ta Escl. (%) AT Par B as per AT Par	keep it neat and papers, plastic beer direction of of 59.1 For Prestigion 1865900.00 rater tanker of He work. Water tanker, wartering a 45602031.28 -51136361.46 latest LAR (As attanket) -11068660.37	I clean by ottles etc officer -in us Area orticulture (er having t site with Bidding Unit ached)
S.No. 6ched	Descript mechaniz including charge (A 253 Descript features is 5000 lit. all leads a Item Code ule () C-So LAR Descript GST12 Descript GST18	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction:- Deduction:- Deduction:- 1.00	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the collections Lumpsum on for cost e Lumpsum	3.15 Sweeping of Lamove litter, de ency litter, de este in dustbin, a shall be provided as	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37	rea and leaves, ace, as pactor.) 2.! AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par	keep it neat and papers, plastic best direction of of 59.1 For Prestigion 1865900.00 vater tanker of He work. Water tanker, wartering a 45602031.28 -51136361.46 latest LAR (As attoring a 16602990.55	orticulture cer having t site with tracker having t site with tracker having t site with tracker having tracker
S.No. 6ched . 5	Descript mechaniz including charge (A 253 Descript features is 5000 lit. all leads a Item Code ule () C-So LAR Descript GST12 Descript GST18	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction:- Deduction:- Deduction:- 1.00	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the collections Lumpsum on for cost e Lumpsum	3.15 Sweeping of Lamove litter, de ency litter, de este in dustbin, a shall be provided as	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to do cover etc. at to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37 GST on Schedule 16602990.55	rea and leaves, ace, as pactor.) 2.! AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par	keep it neat and papers, plastic best direction of of 59.1 For Prestigion 1865900.00 vater tanker of He work. Water tanker, wartering a 45602031.28 -51136361.46 latest LAR (As attoring a 16602990.55	orticulture site with site with site with site with sached)
5.No. Schede .56 .57 .58	Descript mechanizincluding charge (A 253 Descript features 5000 lit. all leads a leads	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction:- Deduction:- Addition	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the direction of the directions Lumpsum on for cost e Lumpsum for Cost incollections Qty Unit	3.15 Sweeping of Lemove litter,de ste in dustbin, shall be provided by the shall be provided by	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to do cover etc. at to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37 GST on Schedule 16602990.55 T on Schedule A-	rea and leaves, ace, as pactor.) 2.5 AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par +Schedul Escl.	keep it neat and papers, plastic beer direction of of 59.1 For Prestigion 1865900.00 (ater tanker of However, wartering a second papers) Amount -45602031.28 -51136361.46 (atest LAR (As att -11068660.37 (atedule B 16602990.55) e B	d clean b ottles etc officer -in us Area orticultur cer having t site wit Bidding Unit ached) Bidding
5.No. Schede .56 .57 .58	Descript mechanizincluding charge (A 253 Descript features 5000 lit. all leads a leads	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with co and lifts as per Item Qty Chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction 1.00 tion:- Addition Item Qty	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the direction of the directions Lumpsum on for cost e Lumpsum for Cost incollections Qty Unit	3.15 Sweeping of Lemove litter,de ste in dustbin, shall be provided by the shall be provided by	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37 GST on Schedule 16602990.55 T on Schedule A- Basic Value	rea and leaves, ace, as pactor.) 2.5 AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par +Schedul Escl.	Amount -45602031.28 -51136361.46 latest LAR (As att -11068660.37 ledule B 16602990.55 e B Amount	d clean b ottles etc officer -ir us Area orticultur cer havin it site wit Bidding Unit ached) Bidding
5.No. Schede .56 .57 .58	Descript mechanizincluding charge (A 253 Descript features is 5000 lit. all leads a litem Code ule () C-Sc LAR Descript GST12 Descript GST18 Descript Ule () D-N NS1 Descript the existi	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with and lifts as per Item Qty chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction 1.00 tion:- Addition Item Qty on Schedule It 12.00 tion:- NS1 Taking bore well with a disposal of the content of the c	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the direction of the direction of the directions Lumpsum on for cost expense Lumpsum for Cost incompanies Qty Unit em Each ding out of s	3.15 Sweeping of Lamove litter, de enter in dustbin, is shall be provided as the indext of the state in dustbin, is shall be provided as the indext of the state	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to cover etc. at the cover etc. at the cost of water, fillinge. Basic Value -51136361.46 le A + Schedule -11068660.37 GST on Schedule 16602990.55 Ton Schedule A- Basic Value 43491.60 mp complete set	rea and feleaves, ace, as pactor.) 2.5 AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par +Schedul Escl. (%) AT Par at Par at Par at Par at Par be considered and par at Par	keep it neat and papers, plastic better direction of of 59.1 For Prestigion 1865900.00 (ater tanker of He work. Water tanker, wartering at 186602031.28 -51136361.46 (atest LAR (As att -11068660.37 (atertanker)) at 18602990.55 (atertanker) at 18602990.5	d clean b ottles etc officer -ir us Area orticultur cer havin it site wit Bidding Unit ached) Bidding Unit
5.No. 6ched .56 .57 .58	Descript mechanizincluding charge (A 253 Descript features is 5000 lit. all leads a litem Code ule () C-Sc LAR Descript GST12 Descript GST18 Descript Ule () D-N NS1 Descript the existi	tion:- 2.59 Cle zed method / disposal of co All T & P, mater 2000.00 tion:- 2.53 Pro i.e. lawn, tree, capacity with eand lifts as per Item Qty chedule C Ded 1.00 tion:- Rate rec 1.00 tion:- Deduction icion:- Addition Item Qty on Schedule It 12.00 tion:- NS1 Tak	eaning and manually, recollected warials/ articles Per Trip oviding and shrubs, hedone labour for direction of the direction of the direction of the directions Lumpsum on for cost expense Lumpsum for Cost incompanies Qty Unit em Each ding out of s	3.15 Sweeping of Lamove litter, de enter in dustbin, is shall be provided as the indext of the state in dustbin, is shall be provided as the indext of the state	63000.00 awn / Garden a bries, picking of / designated pla ded by the control 1865900.00 rigation water to do cover etc. at to cost of water, fil ge. Basic Value -51136361.46 le A + Schedule -11068660.37 GST on Schedule 16602990.55 T on Schedule A- Basic Value 43491.60 mp complete set ing lowering man	rea and feleaves, ace, as pactor.) 2.5 AT Par hrough whe site of ling of ta Escl. (%) AT Par B as per AT Par A + Scch AT Par +Schedul Escl. (%) AT Par at Par at Par at Par at Par be considered and par at Par	Amount -45602031.28 -51136361.46 latest LAR (As att -11068660.37 ledule B 16602990.55 e B Amount 6616799.20 43491.60 HDPE pipe line/ of	d clean boottles etcofficer -inus Area orticulture der having the site with

Page 12 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: AII-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

100	with GI/HDPE pipes/cables i/c jointing the pipes and cables binding along with the pipe complete with required nut bolts and gasket packing etc. as required (for Each Job)								
161	NS3	160.00	Each	270.00	43200.00	AT Par	43200.00		
101	Descript	ion:- NS3 Supp	lying and f	ixing PVC cover	of over head PV	C tanks.			
	NS4	160.00	Each	531.00	84960.00	AT Par	84960.00		
162	Descript float valv		olying and	fixing plastic flo	oat ball (make S	upreme d	or similar) for 50	mm brass	
163	NS5 A	160.00	Each	2195.00	351200.00	AT Par	351200.00		
103	Descript	ion:- NS5 Supp	lying and f	ixing brass floa	t valve for overh	ead tank	s A 40 mm dia		
164	NS5B	160.00	Each	3938.00	630080.00	AT Par	630080.00		
164	Description:- NS5 B 50 mm dia								
	NS6	2000.00	Hour	1747.52	3495040.00	AT Par	3495040.00		
165	Description:- NS6 Hiring of JCB/Hitachi for levelling and dressing ground/dismantling structu Removal of jungle, clearing of earth, lowering high cess etc., alongside the track between up and do lines obstructing drainages of rain water, clearing of bushes obstructing visibility at curves and Le						and down and Level All labour, ed by the States of		
166	NS7	800.00	Sqm	2406.67	1925336.00	AT Par	1925336.00		
166	Description:- NS7 Finish walls with hand painting								

3. ITEM BREAKUP

No item break up added

4. ELIGIBILITY CONDITIONS

Important All documents uploaded and remarks / confirmation entered by the bidders against any
 eligibility condition shall be opened as part of technical bid only

Special Financial Criteria

S.No.	Description	Confirmation Required		Documents Uploading
1	Financial Eligibility Criteria: The tenderer must have minimum average annual contractual turnover of V/N or 'V' whichever is less; where V= Advertised value of the tender in crores of Rupees N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIII (Mandatory), along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/Certificate from Chartered Accountant duly supported by Audited Balance Sheet. Note: Client certificate from other than Govt Organization should be duly supported by Form 16A/26AS generated through TRACES of Income Tax Department of India. As per Clause No. 10.2 of Tender Form (second Sheet) of Annex. I of Part-I of GCC APRIL-2022, with up to date correction slip. Note :All other condition as per Tender Document	No	No	Allowed (Mandatory)
2	As mentioned in Tender Document	No	No	Allowed (Mandatory)

Special Technical Criteria

1	S.No.	Description	Confirmation	Remarks	Documents
			Required	Allowed	Uploading

Page 13 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-RI Closing Date/Time: 18/08/2025 15:00

1	Technical Eligibility Criteria:- (Applicable in this Tender) The tenderer must have successfully or substantially* completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: Three similar works, each costing not less than the amount equal to 30% of advertised value of the tender, OR Two similar works, each costing not less than the amount equal to 40% of advertised value of the tender, OR One similar work, each costing not less than the amount equal to 60% of advertised value of the tender. Note: The similar nature of work is defined as "A work of Repair & maintenance of building *To be read along with 15.8 Note :All Other condition as per Tender Document	No	No	Allowed (Mandatory)
2	As mentioned in Tender Document	No	Nο	Allowed (Mandatory)

5. COMPLIANCE

Important All documents uploaded and remarks / confirmation entered by the bidders against any compliance condition shall be opened as part of technical bid only.

Check Lst

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed

Commercial-Compliance

S.No.	Description	Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	11/10	Allowed (Mandatory)
2	please enter percentage of local content in the material being offered .Please enter 0 for fully imported items and 100 for fully indigenous items.The definition and calculations of local content shall be in accordance with the make in india policy as incorporated in tender conditions	No	1010	Allowed (Mandatory)
3	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Yes	Allowed (Optional)

General Instructions

S.No.	•	Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed
2	As mentioned in Tender Document	No	No	Not Allowed

Special Conditions

S.No.		Confirmation Required		Documents Uploading
		Required	Allowed	opioaumg
1	As mentioned in Tender Document	No	No	Not Allowed

Technical-Compliances

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	IINO	Allowed (Mandatory)

Undertakings

S.No.		Confirmation Required		Documents Uploading
1	As mentioned in Tender Document	No	No	Not Allowed
2	As mentioned in Tender Document	No	No	Not Allowed

Page 14 of 15 Run Date/Time: 21/07/2025 17:30:19

Tender No: All-EN-CMW-MJND-25-27-Rl Closing Date/Time: 18/08/2025 15:00

6. Documents attached with tender

S.No.		Document Description
1	FinalTenderDocumentforBuildingMaintenanceIMDMJND-R1_1.pdf	Tender Document

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: VASUDEV PARASHAR

Designation: AMCM

Page 15 of 15 Run Date/Time: 21/07/2025 17:30:19